
2015 Service Part Kit Numbers 
09/01/2014 

Trailer Hitch Parts List 

Below are listed the parts that attach to the new Ram 3500 models equipped with the fifth wheel/gooseneck prep package 

(sales code AHU) 

Fifth Wheel 

 Fifth Wheel Installation Kit (Part Number:  82213667)  consists of a bracket to adapt from common Fifth Wheel 

hitches to production mounting points on the truck and includes the captured quarter turn tie-downs that mate to 

the under bed mounting brackets.  It is a rectangular tube steel frame with multiple mounting points for commonly 

available fifth wheel hitches.  The purpose is to allow the customer to adapt a fifth wheel hitch that they already 

have to the factory installed gooseneck/fifth wheel prep kit. Note: this kit is required to adapt to the fifth wheel 

kits below. 

 25,000 Fifth Wheel with Fixed Legs (Part Number:  82213821) 

 Fixed Legs for 20,000 Fifth Wheel (Part Number:  82213824) 

 Roller for 20,000 Fifth Wheel (Part Number:  82213823) 

 20,000 Fifth Wheel (Part Number:  82213822) Requires one of the legs above. 

Goose Neck 

 82213632 -- Kit includes 2 5/16" Turnover Ball (locking mechanism incorporated into top of ball), Canvas Sleeve 

with draw string to secure Ball when not in use and 2-Forged Safety Chain Tie-Downs 

 82213631 -- Kit includes 3" Turnover Ball (locking mechanism incorporated into top of ball), Canvas Sleeve with 

draw string to secure Ball when not in use and 2-Forged Safety Chain Tie-Downs. 

 

Misc. 

 82213664 -- Ram 3500 Gooseneck Prep Package consists of the following production parts: 1 - Gooseneck Module 

(68149897AA); 2 - Stud Plates M16x1.5 (68185738AA); 2 - Rear Stanchions (68171174AA); 4 - M12x1.5x110 Bolts 

(06104246AA); 4 - M12x1.5 Nuts (06104718AA); 6 M16x1.5 Nuts and 1 - kit of composite bed hole 

surrounds/covers  Note: this kit converts a truck that was not factory equipped with sales code AHU 

 

Trailer Brakes 

 82213474 (2013 Integrated Trailer Brake Control Module). This kit allows the factory integrated trailer brake 

controller to be added to trucks built without it.   



2015 Service Part Kit Numbers 
09/01/2014 



2015 Service Part Kit Numbers 
09/01/2014 


	2500/3500 Ram Home
	Service Part Kit Numbers

	MAIN MENU



